20 kg

ILE BEREF 1

ERBKE

BX 58 2
P IS
Bk ¥ 3
BAKZ

g 1EKER 4
MR

hE W= 5
HEARE

BfiE $R95 6
hREhEAS

HHE —R 7
FRKE

RE B8 8
fELKE

i EKER 4

SEHERS

ILE BEREF 1
B

hE W= 5
HEARE

7-5 2'00
8-0 0'55

PP
-1 2'00
1-0 200

PP
1-0 2'00
2-2L 200

06 155 |

2[EH

PO
0-3 2:02
0-3 2:02

R

PP
-0 202
1L-1 200

A Tk

K%

Bk F

BAXE

BEX

BEXE

FT | RREAXE

Wiz

HIERZE

Bhi&

IAMEERF

WH ERF

EBKE

iH thFE

PRAE

o |(N|o|o|w|w| N

B EE

BFEAE

R 1EH
0
PO
0-4 200
0-7 038
0
3
3‘
™v
0-6 143
3
3
PP
5-0 2'00
2-2B 2'00
2-0 200
1
3
3
1
0
PP
0-1 202
1-2 200
0
3
3‘
PO
3-0 2'00
1-0 200
3
3
PO
0-1 2'00
4-0 200
4-0 200
1
3
SHTRTER 2B
0
3
v
1—1L 2:00
1-3 1:15
5‘
PP
0-1 2:00
1-0 2:00
0-6 1:45

FiHE

0-2 2'00
0-6 0'50

PP
3-3B 200
3-0 2'00

30 2'00

4-3 2'00
0-1 203
3-3B 200

BEMEY
1EH
PP

4-0 200
0-3 2'00

|04 204

9 EF AL
KRFEBRE
10 = &
BB
11 g s
[EsEicb ]
12 BT ¥F
BREXZ
13 4%H FF
EEIlIPNES

——— 14 BXK %

ELEEAS

———— 15 KB =X

HILPpERE

——— 16 3T thEFE

EEPLS

17 [EE W%

BaRE

— o 18 EH 17k

HERE

19 HXk BEK
BEXRE

20 /KA Bh&E

AEERE

21 RR AR

HERERY

———22 & JES

IENC

23 EHW EX

HEKRE

18 ERH 78k

HERE

16 A thFEE
Rk

20 k0O BhE
RS

12 BT #F



